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QUESTION 1

Which of the following routing protocols support the default route through command configuration? 

A. BGP 

B. IS-IS 

C. OSPF 

D. ICMP 

Correct Answer: A 

 

QUESTION 2

Which of the following statements regarding the firewall zone security level is false? 

A. The configured security level cannot be changed. 

B. Two zones cannot be configured with the same security level. 

C. The default security level of the new zone is 1. 

D. Only the security level of the user-defined zone can be configured. 

Correct Answer: A 

 

QUESTION 3

As shown in the following figure, a new AP is deployed In dual link MSB networking (load balancing mode). Which AC
will the connect to? 
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A. AC1 

B. Random access 

C. None 

D. AC2 

Correct Answer: C 

 

QUESTION 4

The filter-policy 2000 export command is run in an ISIS process. Which of the following statements about the functions
of a filter policy is false? 

A. Is used together with the route import function to advertise some imported external routes to neighbors. 

B. If this command is not run, the device by default advertises all routes that ISIS Imports form external routing
protocols. 

C. Controls the advertisement of routes generated by the device. 

D. Filters LSPs to be advertised. 

Correct Answer: B 

 

QUESTION 5

A switch runs MSTP. The configuration is shown in the figure. What is the role of this switch in MSTI 1? 

A. Uncertain 

B. Root switch 

C. Non-root switch 

D. Secondary root switch 

Correct Answer: A 
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QUESTION 6

According to BGP route selection rules, the route with the higher Local_Pref is preferred. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 7

OSPF supports area authentication and interface authentication. If both authentication modes are configured, Interface
authentication takes preference over area authentication. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 8

Which of the following TLVs is used by ISIS to describe the IP address of an interface? 

A. 129 

B. 131 

C. 128 

D. 132 

Correct Answer: D 

 

QUESTION 9

To prevent inter-area routing loops, OSPF does not allow advertising routing information between two non-backbone
areas and allows sing routing information only within an area or between the backbone area and a non-backbone area.
Therefore, each ABR must be connected to the backbone area. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 10
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Regarding the route-policy set-cost configuration below, which of the following statements is true? 

A. The route 11.1.0.0/16 is permitted by node 10, and its tost Is set to 300. 

B. The cost of all routes is set to 200. 

C. All the routes that are not permitted by node 10 will be denied. 

D. The route 11.1.0.0/16 will continue to match node 20 after permitted by node 10, and (he final cost is set to 200. 

Correct Answer: A 
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